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Directions for the following 8 (eight)
items :

Read the following four passages and
answer the that follow each
passage. Your answers to these items
should be based on the passages only.

items

Passage - 1

The subject of democracy has
become severely muddled because of the
way the rhetoric surrounding it has been
used in recent years. There is,
increasing’ly, an oddly confused dichotomy
between those who want to ‘impose’
democracy on - countries the
non-Western world (in these countz
‘own interest’, of course) and th
are opposed to such ‘imposi
of the respect for
ways’). But the
‘imposition’

in

ancient Y. Indeed, in understanding
the roots of democracy in the world, we
have to take an interest in the history of
people ‘participation and public reasoning
in different parts of the world. We have to
look beyond thinking of democracy only in
terms of European and American
evolution. We would fail to understand

B-BRO-M-HTB

[

the pervasive demands for participatory
living, on which Aristotle spoke with
far-reaching insight, if we take democracy
to be a kind of a specialized cultural
product of the West.

It cannot, of course, be doubted
that the institutional structure of the
contemporary practice of democracy is
largely the product of European and
American experience over the last few
centuries. Thi extremely important to
se developments in
were -immensely
ely effective. There
there is a major

Wesire to portray it as a

concept, ‘alien’ to
Bn-Western countries.
The language of imposition of

democracy is inappropriate. There is,
however, a need to consider this
concept in the backdrop of culture of
‘own ways’ of non-Western society.

While democracy is not essentially a
Western idea belonging exclusively
to the West, the institutional
structure of current democratic
practices has been their contribution.

None of the statements (a), (b) and
(c) given above is correct.

(d)

pa- A )
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With reference to the passage, the
following assumptions have been made :

1. Many of the non-Western countries
are unable to have democracy
because they take democracy to be a
specialized cultural product of the

West.

Western countries are always trying
to impose democracy on non-Western
countries.

Which of the above
assumption/assumptions ?
(a)
(b)
(c)

is/are wvalid

1 only
2 only
Both 1 and 2

Another point
_ on corporate
governance is the need for those in control
to be able to distinguish between what are
personal while

and corporate funds

managing a company.

Fundamentally, there is a level of

confidence that is associated with a
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company that is known to have good
corporate governance. The presence of an
active group of independent directors on
the board contributes a great deal towards
the
Corporate governance is known to be one

ensuring confidence in market.
of the criteria that foreign institutional
investors are increasingly depending on
when deciding on which companies to

invest in. It is also known to have a

the share price of the
clean image on the

positive influence g
company.
front could also
panies to source
asonable  costs.

pvernance often

fnies should always comply .
labour and tax laws of the land.

Every company in the country should
have a government representative as
one of the independent directors orn
the board to ensure transparency.

The manager of a company should
never invest his personal funds in
the company.

Select the correct answer using the codes

given below :

1 only
(b) 2 and 3 only
(¢) 1 and 3 only
(d 1,2 and 3

(4 - A)
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4. According to the passage, which of the

following is/are the major benefit/benefits |

of good corporate governance ?

1. Good corporate governance leads to
increase in share price of the
company.

2. A company with good corporate

governance always increases its
business turnover rapidly.

3. Good corporate governance is the
main criterion for foreign
institutional investors when they
decide to buy a company.

Select the correct answer using the codes
given below :

1 only
(b) 2 and 3 only
(c) 1 and 3 only
() “1,2-and 3

enough fod The child’s dependence on
someone else to feed him/her is primarily
responsible for the malnutrition. Very
often the mother is working and the
resfmnsibility of feeding the young child is
left to an older sibling. It is therefore
crucial to increase awareness regarding
the child’s food needs and how to satisfy
them.
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(6 - A)

According to the passage, malnutrition
in children can be reduced

(a) if the children have regular intake of
food.

(b) - after they cross the age of five.

vﬁ if the food needs of younger children

are known.

(d) if the responsibility of feeding
younger children is given to adults.

According to the autghor, poverty is not

nutrition, but the

er ones is not a

needs is not
blic Health

Passage - 4

A number of empirical studies find
that farmers are risk-averse, though only
moderately in many cases. There is also
evidence to show that farmers’ risk
aversion results in cropping patterns and
input use designed to reduce risk rather
than to maximize income. Farmers adopt
a number of strategies to manage and
cope with agricultural risks. These
include practices like crop and field
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diversification, non-farm
storage of stocks and strategic migration
There are also

institutions ranging from share tenancy to

of family members.

kinship, extended family and informal
credit agencies. One major obstacle to risk
sharing by farmers is that the same type
of risks can affect a large number of
farmers in the region. Empirical studies
show that the traditional methods are not
adequate. Hence there is a need for policy
interventions, especially measures that
cut across geographical regions.

Policies may aim at tackling
agricultural risks directly or indirectly.
Examples of risk-specific policies are g
insurance, price stabilization

development of varieties rgs

and diseases. Policig

~ the Indian &
developing cONENAJ#® - because the
majority of farmers depend on rain-fed
agriculture and in many areas yield
variability is the predominant cause of
their income instability.
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employment, | 7.

(8 --A)

The need for policy intervention to
mitigate risks in agriculture is because

(a) farmers are extremely risk-averse.

(b) farmers do not know how to mitigate
risks.

\/K the methods adopted by farmers and

existing risk sharing institutions are
not adequate.

(d) majority of farmers
rain-fed agriculture.

depend on

Which of the
emerges from

lowing observations
e passage ?

single policy that
without any

policy 1is
tural risk.

Intimacy 18 an essential
characteristic of a primary group.

(iii) A family may be an example of a
Pprimary group.

In the light of the above statements,

which one of the following is true ?

(a) All families are primary groups.

(b) All primary groups are families.

(¢) A group of smaller size is always a
primary group.

Members of a primary group know
each other intimately.
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10. Four friends, A, B, C and D distribute
some money among themselves in such a
manner that A gets one tess than B, C
gets 5 more than D, D gets 3 more“than
B. Who gets the smallest amount ?

Vi

(b)
ey
(die=D

Directions for the following 4 (four) items :
Read the following statements and answer
the four items that follow :

Five-cities P, Q, R, S and T are connected
by. - different modes of transport as
follows : B A

P and Q are connected by boat as wel :
rail.

S and R are connected b

M visits each of the places
starting from P and gets back to P, which
of the following places must he visit
twice ? -

(@) Q

)
(c)

R
S
()T

B-BRO-M-HTB

13. Which one of the following pairs of cities
is connected by any of the routes directly

without going to any other city ?

(a) Pand T
(b) Tand S
(¢c) Qand R

W None of these

Between which two cities among the pairs
of cities given below are there maximum
travel options available ?

) Qand S
(b)

14.

P and

will be there in the team. For a team of
_,F__..—-:-—--\.

: fbur, all players must be able to play with

each other. But, B cannot play with W, C

cannot play w1th Z and W ‘cannot play
with' Y.

15. I %zs ;gle:ted and B is rejected, the team
will consist of which one of the following
groups ?

(a) A,C,WandY
%@/A, C,Xand Y

(e) ~A; C; Y and Z

d A, W,YandZ

O )
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10. R A% A, B, C 3R D amuw & o5 I 39

mgamﬁ%ﬁmﬁmaﬁlaﬁwm CH D
F57e IR D & B A 3 5umel fear & |
a2 B 1T fswrepr firerdr € ?

(a) A
(b) B
(c) C
(d) D

B 4 (aR) st & e B -

ffeiRaa &oml @ ulge 3R 39 §re 3= are
g gu=i9l & FO¥ S ¢

Ui TR P, Q, R, S 3R T uRags & F=folRaq
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11.

12. S
3R P WR 9109 31 g, ?ﬁﬁmﬁlﬁaﬁﬁﬁﬁm

VI W J8 &l §X e ?
(a) Q
(b) R
(c) S
{d). - T
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13.

14.

(11~ A)

frafafes & & oF-31 v6 TR gm, &9 3=
TR # e fomr, fodt o anf & Hd e 2

(a) P3R T

(b)y T3RS

(c) Q3IRR

(d) =¥ P T

T fee e TR g A A e &1 IR & d
3iférepam am fadey 3uerer & P

(a) Q3RS
(b) P3R R
(c) P3R
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(a) A CW3RY
(b) ACX3RY
© A CYdRZ °
d A WY3RZ



16.

17.

18.
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VK A, B, Cand X

If B is selected and Y is rejected, the |19.

team will consist of which one of the
following groups ?
(a) A,B,Cand W
() A, B, Cand Z

(d A, W,Yand?Z

If all the three males are_selected, then '
how many combinations of four member
teams are possible ?

(d) 4

The music di

21.

(a)

”

(b) Tanya, Kaushal, Shobha and Rohit

Rohit, Shobha, Kunal and Kaushal

2 =i

M

Five people A, B, C, D and E are seated
about a round table. Every chair is spaced
equidistant from adjacent chairs.

(i) Cis seated next to A.

(i1) A is seated two seats from D.
(ii1) B is not seated next to A.
Which of the following must be true ?
D is seated next.to B.

(II) E is seated next to A.

Select the correct answer from the codes
given below :

(a)

I onl

and D play hockey and basketball.

Who does nrot play hockey ?

(a) D
(b) C
(e} /B

Who

hockey ?
@71}::

plays football,__ basketball and

W Tanya, Mukesh, Kunal and Jaswant '{Eb; g
c
(d) Shobha, Tanya, Rohit and Mukesh (d) A



16.

117.

18.

21.
(b) @, @i, i 3k Afg
(¢) T, {ber, PUIeT AR ST
(d) - <, =, Afed 3R g
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(b) A B, C3RZ
(¢0 A B C3RX

(d A, W,Y3RZ
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(b)
(c)
(d)
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22. Which game do B, C and D play ?
(a) Basketball

W Hockey

{c¢) Cricket
(d) Football

23. Geeta is older than her cousin Meena.
Meena’s brother Bipin is older than
Geeta. When Meena and Bipin visit
Geeta, they like to play chess. Meena
wins the game more often than Geeta.

Based on the above information, four
conclusions, as given below, have been
made. Which one of these logically follo
from the information given above ?

the years. Steady reforms since 1991 have.

led to growing linkages and integration of
the Indian economy and its financial
system with the global economy. Weak

global economic prospects and continuing
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uncertainties in the international
financial markets therefore, have had
their impact on the emerging market
economies. Sovereign risk concerns,
particularly in the Euro area, affected
financial markets for the greater part of
the year, with the contagion of Greece’s
sovereign debt problem spreading to India

and other economies

by way of
higher-than-normal levels of volatility.

constraints in
ial markets could
ability and cost of

and corporates.

Capital adequacy levels

above the regulatory
requirements. The ' financial market
infrastructure continues to function

without any major disruption. With
further

deregulation, and diversification of the.

globalization, consolidation,
financial system, the banking business
may become more complex and riskier.
Issues like risk and liquidity management
and enhancing skill therefore assume

greater significance.

(14 ‘2ald]



22. B, C 3R D -9 @ @ad § ?

23.
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24.

25.

26.

According to the passage, the financial |27. Risk and liquidity management assumes
markets in the emerging market more importance in the Indian banking
economies including India had the system in future due to

adverse impact in recent years due to 1o s glbhalization.

1. weak global economic prospects.

O " Al aieees ety St £ ) 2. more consolidation and deregulation

financial markets. of the financial system.

b i isk concer 1 r ; . )
3 Zﬁ;grmgn o oncerns in the Euro 3. further diversification of the

4. bad monsoons -and the resultant financial system.

crop loss. 4.

cial ipclusion in the
Select the correct answer using the code

given below :

(a) 1 and 2 only wer using the code

1, 2 and 3
(¢) 2 and 3 only
(d) 2,3 and 4

The Indian financial marke
by global changes mai

(a) increased inflg

(b) obby clubs in a college

oraphy, vyachting, chess,
and gardening. The

day, the electronics group meets every
third day, the chess group meets every
fourth day, the yachting group meets
every fifth day and the photography
group meets every sixth day. How many
ability  to times do all the five groups meet on
the same day within 180 days ?

(d)

According ? 1 the Indian
financial APt
withstand

overall financNgp€tability because Indian

financial system is M 3
(a) controlled by the Government of

India. (b) 5
(b) less integrated with banks.
(¢) controlled by Reserve Bank of India. 0
W dominated by banks. (d) 18

B-BRO-M-HTB a6 = 8



24, Rede & 3R, Fraffad § & 506 SR
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2. sl R aTRY B e |
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(a) ®ad 13k 2 :
(b) 1,23 3

(¢c) oad 23R 3

(d) 2,334

25.

26.

(a) ¥Rd WReR gRI Fafa gar € |
(b) dF & AT T THIFEA & |

(¢) WRara Rad d grr Frdfaa @ar & |
(d) W dof 31 w3y & | '
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27.

(17 — A)

Frafafea & @ o aror Sifew 3R a=ear
¥ v & wiaw # wRag dfen 97 7 sfte
A ffier a1 & ?

1. 3R st fasaaamia=or |

9. i 43 @& 3k sfte dues 3R
faferor |

3. e d7 1 3R st Rfdwo |

4.  FiTaRn # siftre faig gaReH |

qre WU & urdd i frerar @ sk s
qTen YR & Bod foa ferar & | 180 feAt &
X @i ufg I8 fha aR v @ T Frer
B
(@) 3
(b) 5
(c) 10
(d) 18



29. A, B, C, D and E belong to five different
cities P, Q, R, S and T (not necessarily in
that order). Each one of them comes from

a different city. Further it is given that :

1. BandC donot belong to Q.

2. BandE do not belong to P and R.

3. AandC do not belong to R, S and T.
4. D and E do not belong to Q and T.

Which one of the following statements ist

not correct ?

(a) C belongs to P

(b) D belongs to R

(c) A belongs to Q
W B belongs to S

30. Seven men, A, B, C, D, E, F and G are
standing in a queue in that order. Each
one is wearing a cap of a different colg
like violet, indigo, blue, gree
orange and red. D is able to :
him green and blue, buid

see violet and yellg

see caps of- 2

31. There 2
yellow cd
as many re are yellow
balls. The e as many yellow
balls as ther8g® green ones. The number
of red balls o
(a) is equal to the sum of yellow and
green balls.
\/4 is double the number of green balls.
(c) is equal to yellow balls minus green
balls. -
(d) cannot be ascertained.
B-BRO-M-HTB

Directions for the following 2 (ftwo) items :

Read the following passage and answer
the two items that follow. Your answers to
these items should be based on the
passage only.

Passage

Crude mineral oil comes out of the
earth as a thick brown or black liquid
with a strong smell. It is a complex
mixture of many different substances,
each with its own individual qualities.

Most of them are combinations of
hydrogen and grbon in  varying
proportzons rocarbons are also

uch as bitumen,

as. Mineral oil
asses of tiny
pat live in the
these dead
under the
over them

s

Mimentary rock become thuker
Their pressure produces
eat, which transforms the tiny carcasses
into crude oil in a process that is still
going on today.

32. Mineral oil deposits under the sea do not
get completely decomposed because they

(a) are constantly washed by the ocean
currents.
\% become rock and prevent oxygen

from entering them.
(c) contain a mixture of hydrogen and
carbon,

(d)

are carcasses of organisms lying in
saline conditions.

18 = A¥)



29. A, B, C, D3R E ug fafim 'R P, -Q, R, S
IRTHE (Fada M wr H 780 | g9 9}
T® U fig R | & | geew fean mar @
1. B3RC-TRQIATAE |

B3R E, 7R P3iR R¥ &1 & |

AR C, TR R, SR T 78 & |

D3IRE TR Q3R TA =& & |

frfafad o & oF-a1 Fom 9 7 &
(a) C,TMR P&
() D,TRRA 2
) ATRQIAE
d B,TRSAE

2.
3.
4,

30. B, C, D, E, F 3R G 9 b & 3 531 oA
ip § @2 € | s i < & A ugn @
S R, S, AN, &2, a9l

A,
i

fefeRaea 2 (aY) weien & e f[Ader -

fAfefaa aReee @ gfge 3ik 3m) 3= e &t
FI9N & IR &llore | 39 FeHEn & IS IR
59 gRega o= & 3menRa 8 anfse |

uReda

Foal @i da S ¥ ve A T &
|1 Me PO AT R dRA & W9 A S| ATl
2| Tz e ffE el @, e Tee &
o R Tor ¥, SRe fasor & | 37 went §
¥ st fifiE srggh ¥ FESeH ok BEE
& dam ¥ | 33 EEEE g
I ,‘r@ L st R b W
7 9 g | T H @ dre

—d\ el

’f 2 Td Sfdl &I
[ o R

DOl

@ | D 309 9 & 3R e
W § @ T8 | E e g
2, W D T8 | G 5
@ efUdl @ ThdLe
Ugw &, a1 F GB
(a)
(b)
(c)
(d)

'
{ Lo

U W3l )

g & | forr u

it 1, 7 T

=T,

(a) Wil 3R & A & e S 2

(b) &R AR

(c) el I ¥ ¥ & N P geTdHR 30 HE&n
B Far R |

(d) & ga% o FHA & |

31.

p R | &0
a-wg;“ayf* R <l

.15"'-2'3 .. aﬂllﬂfﬂqﬂ??{
SV al el @ = 3R 2

f“.--“'wﬁmmmmmﬁmaw
S | .
€§ ORI @ B d ¥ oRafia a%
‘;3\"— W oo i sl 3 sicta S g ) ST
b I

32. W a6 % GRS A M wiaar 39ia
T8 & T & s 3 -
(a) R A & PR=R g o E |
(b) e &9 3 & 3R sifeRieE @ 379 o
A o 2 E |

(c) TRgISH 3R HE I FHH0T FHIET B
g |

(d) veviig @emsli § Us W@ a Sidl &

B-BRO-M-HTB ( 18

TaIRR & |
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33. Sedimentary rock leads to the formation

of oil deposits because

(a) there are no saline conditions below
it.
(b) it allows some dissolved oxygen to

enter the dead organic matter below
i ;

weight of overlying sediment layers
causes the production of heat.

it contains the substances that
catalyze the chemical reactions
required to change dead organisms
into oil.

&

(d)

34.
20", When two boys joined, his rank was

dropped by one. What is his new rank
from the end ?

(a) 25"‘1\‘
(b) 26th
@) 2sth

35. A thief running at 8

riginal speed. If it
¥ complete the total
Journey, what 1% the original speed of the

train in km/hr ?
(a) 24
(b) 33

\)/42

(d) 66

B-BRO-M-HTB

In a class of 45 students, a boy is ranked ‘

Directions for the following 7 (seven)

items :
Read the following two passages and
answer the items that follow each passage.
Your answers to these items should be
based on the passages only.

Passage - 1
: The law in many parts of the world
increasingly restricts the discharge of

agricultural slurry into watercourses. The

simplest and oftem the most economically

s the material to the

The excess input of nutrients, both
nitrogen' and phosphorus — based, from
agricultural runoff (and human sewage)
has caused many ‘healthy’ oligotrophic
lakes (low nutrient concentrations, low
plant productivity with abundant water
weeds, and clear water) to change to
eutrophic condition where high nutrient
lead to

productivity (sometimes dominated by

inputs high phytoplankton

bloom-forming toxic species). This makes

(20 = 8]



Jgare) ste od FHEl & Fmior & $RUT 9§

Faife :

(a) =GP A BT I = & Bl |

(b) A 3 AR ST G Sfa werd # 6 el
g Sifeis 39 &4 € |

Eﬁwmmmwmmﬁﬁ
P g |

(d) 7 DR geref B & S ga Sl @ ae
TRafdd &9 &g NGAS AT
- wfcifoamsii &1 ISROT B B |

tarci faanfiat & v ®en A, v .aed @
SNTel R & | 39 & 3R el 5w ok &, ar
a%m@m%%‘rsrﬁﬂélsﬁmldqrdﬁﬁm
RIH FTE ?

(a) 25df
(b) 264t
(¢c) 27af
(d) 28

33.

(c)

34.

35.

(b)

(c) 4

fr=feiRaa 7 (wra) wemen & fore fAder -

fAefRaa at aRegal & & 3@ @ gfer 3k
g R & J9%ia far 1T gEEEN & IR
&fsr | Z7 FerEn & sd IR gReeel W) &
3enRer g @ifae | '

(d) 6™

'36. E T Ph-afe 1ot (3R wFa wet-s7et) & wem
el & 3] o 9 6 felljger| W meiom v wesRe At sngR A ot
it oF iR o 72 fout & g 9a Rl ' - . i -
2 | ot = o g T B 3 6 A %mﬁaﬁﬁwﬁm e’ for-aett et
ar Y & i T Redyeer F @ & 2 (T8 = o o, B e SaEdar
(a) 24 ' 3R sftrs STeTg @RUAER v @ S faemT
(b) 33 BT 8) B guit @i A e i @, 5 3=
(c) 42 L1 e g < B oo B | G A s B o G T
(d) 66

B-BRO-M-HTB (BAEER )



the water turbid, eliminates large plants
and, in the worst situations, leads to
anoxia and fish kills; so called cultural
Thus,

ecosystem services are lost, including the

eutrophication. important

provisioning service of wild-caught fish

and the cultural services associated with

recreation.

The process of cultural
eutrophication of lakes has been
understood for some time. But only

recently did scientists notice huge ‘dead
zones' in the oceans near river outlets,
those

catchment areas such as the Misas

particularly draining large

in North America and

cities. Ocdanic dead zonés are typically
associated with industrialized nations and
usually lie off countries that subsidize
their agriculture, encouraging farmers to
productivity and use

increase more

' fertilizer.

B-BRO-M-HTB

37.

(22 A%

According to the passage, why should
the discharge of agricultural slurry into
watercourses be restricted ?

1. Losing nutrients in this way is not a
good practice economically.

2. Watercourses do not contain the
microorganisms that can decompose
organic components of agricultural
slurry.

3. The discharge may lead to the
eutrophicatiga ater bodies.

using the codes

context ?

(a) Decomposed organic component of
slurry is pollutant  and
microorganisms in soil constitute

fertilizer.

Discharged agricultural slurry is
pollutant and decomposed slurry in
soil is fertilizer.

(c) Sprayed slurry is pollutant and
watercourse is fertilizer.

None of the above expressions is
correct in this context.



(@M-m plooar i fadeh sifet &
TETeT & 1) TRUNR g € | $99 o1 Tael
& 3T 8, 98 e faqw & S & au w6
e fRif & sHifeear dax mefe o 79
B JH | g8 qUerd HaeH guNe @ |
3R TR ¥ TRl GRkie JaE Wi,
Tewqol wike e FHe & ST € |

TO T W, el b HagH gouo &
yipar s ST XE & | afes deifel @,
TerIRY ¥ AR % R % el R T

W TEE €, a0 A &F W 3T M ¥
g € 31 5umt @ Jaesar dom 3R sifEE
IRe & wm F v e P &g e
HEId] <R Wiediied &d & |

B-BRO-M-HTB

37. uRweE & TR, BU-HaA BT SN A Big

R 41 Sfde=r =T Tnfge ?

39 YR ¥ Nyl @ g1 anfeie gitea
¥ 38 ygld 6§ |

1i¢

SteT @ [ewsid el 8ld i pi-dan
& Sfa dawal @ IvUied HX A & |

SRl W BAH BIe ¥ ISP Jamor H

3R Fdl & gemsila 3Re &1 € |

(b) B T P-HeH FgUS & R g A
Jufed &dH IR ¢ | |

(c) Tissar man odn weye & 3R Sl IR
g |

(d) 39 < ¥ 3% 7 ¥ o O sfiafke
e AE |

(23 - A)



39. According to the passage, what are the

effects of indiseriminate use of fertilizers ?

1. Addition of pollutants to the soil

and water.

2. Destruction of decomposer
microorganisms in soil.

3. Nutrient enrichment of water
bodies.

4. Creation of alga-l blooms.

Select the correct answer from the codes
given below : :

(a) 1, 2 and 3 only

M 1, 3 and 4 only

(¢) 2 and 4 only

(d)

40,
1.
2
g
Select the ¢ using the code
given below
(a) 1 only
W 1 and 2 only
(c) 2 and 3 only
(d) 1,2 and 3
B-BRO-M-HTB

41.

(24 - A)

(@

What is the central theme of this
passage ?
(a) Appropriate legislation is essential to

protect the environment.

(b) Modern agriculture is responsible for

the destruction of environment.

Improper waste disposal from
agriculture can destroy the aquatic
ecosystems.

Use of chemical fertilizers is
undesirable in agriculture.

to make

hospitals, but human misery
continue wuntil man’s character

According to the ;ﬁassage, which of the
following statements is most likely to be
true as the reason for man’s miseries ?

(a) The poor economic and
conditions prevailing in society.

social

The refusal on the part of man to
change his character.

(c)

The absence of physical and material
help from his society.

Ever increasing physical needs due
to changing social structure.

(d)



39. uRwde & AR, IRDI S MY T & [41. 39 oRBe A g fvg o & @

gHIT T 8 ? b (a) TgERor @ Wem & fow wgfa
: : < fafe-Fmfor sifard & |
ke B T LS (b) smgfe PN TaiRor & feme & fow
9. fig # swwew & g geASTal @ FRary & |
foemer | | ©) PR ¥ R suRre PR, sd
TRez @ o R aa & |

3. Siemerdl # Dl &l HagT |
- d) o ¥ e RS & Iy

4, Y9 g B EET | ' e @ |

Hra v e g @1 g dR EE IR g R i o

(a) ®ad 1, 23R 3 : . 6 7 @

(b) ad 1, 33K 4 - | : I e
g fe sman

(c) Pad 2 3R 4 RUELREES

(d 1,2, 33K 4

40. TR i, 3 NI U & W vl Rifem

ﬁ-wﬁwmﬁ%,aﬂ
P el A R WEd &, Req 56 ad
I & aka URdafda 9 & AFdE §a@
3aRd & & |

42. WREBe & R, FEffea st 4 9
B9, FE & gl & PR & w9 7 waffers

AR HEAE 0 7 5 : e e & 2
(a) Pad 1 (a)ﬁm‘?ﬁmgﬂwﬁmaﬂqm
. EIE |
(b) et 1 3R 2 (b) #I B AT TR uRafia & A oK |
356 9915 9 sifas sk waRe geraar
() WZSﬁTB (c) = HHTa I .
(d) 1,23R 3 _ - (d) uRedEhe Twmifsie WRear & BRO

R Tedt 58 Hifre sravawmatt |

B-BRO-M-HTB { 25741



43.

44,

B—BHD—M—P}TB

With reference to the passage, the
following assumptions have been made :

1. The  author  gives primary

importance to physical and material

help in eradicating human misery.

2. Charitable homes, hospitals, etc. can
remove human misery to a great
extent.

Which of the assumptions is/are valid ?
(a)
(b) 2 only

(c) Both 1 and 2

1 only

W Neither 1 nor 2

Consider the following figures 1, 2, 3 an

(194
X B A

e Ay 24

1

In the fi
sym

1 to 4 e 0
o chan

_ jon. Foll

me s e o

will g

(c)

Directions for the following 2 (two) items §—

45.

46.

(26 - A)

In each item, there are two sets of figures;
first four figures named Problem figures
and next . four figures named Answer
figures indicated as (a), (b), (¢c) and (d).
The problem figures follow a particular
sequence. In accordance with the same,
which one of the four answer figures
should appear as the fifth figure ?

%

Problem f

i

(d)

(b)

3 N\

Problem figures :

DOOE

Answer figures :

@@@@

y~a)



43.  uRee & Heof ¥, Frafafaa. arond =g w8
Wil
1. oEd AFda el & e § elfas silk

fFr=feiRaa 2 (a)) we=ren & fore Ader -
JE FeI9 § sigplaa) & @ wgeea & | ggeht
gk aplaal, §e splaal & wq & iy &

. WaR® HEar B NAHe Hed ol & | sﬂ?ma?arfmgsﬁﬁsﬁ?sngsﬁaﬁsjwﬁ
9. el AT, SREAT, SR WA g e & 3 (a), (b), (c) SR (d) & o Aiffe
@I TP 1 GMT a® qX DX Tad ¢ | ﬁﬁ#ﬁ;ﬂﬁ@ﬁgf%ﬂaﬂﬂ
3RO / . AR FX
3 aRom3t § e-I dg 2 2 ol o 4 e o, Ak =hd
(a) &ad 1 ¥ st 2 ;
(b) Bad 2
(¢) 13k 2amt s BTG
d IA1T82
44, Fe=fafEa 1, 2, 3 3k 4 el W faor }
oI :
A
2 A
e A w
Fad
1 B _
IR 1 ¥ 4 @ &@
fraftra feem 9 T
o P, >
Uferd ? (c) (d)
(a) N
Fa w
2
e
(b)
A
(c)
A
e
(d)
P
' B-BRO-M-HTB (27 8A)



47. Consider the following diagrams : Four cars are hired at the rate of ¥ 6 per
X men, 'w'{)rking at constant Speed’ do a km pluslthe cost of diesel El‘l} Z 40 a litre. In
certain job in y days. Which one of these this context, consider the details given in
diagrams shows the relation between x the following table : :
andy ?

y y Mileage Total
bk M o (km/I) plons Payment (%)
“ﬂ% % A 8 20 212Q
A - B 10 1950
BT R C 9 2064 *
0 Men 0 Men 3 oy
diagram I diagram II L C18l2
e maximum
y Y
M
o (7]
B, >
o o .
Al A Car B
0 Men
dia diag {
iagral owing three figures in
iagram numbers follow a specific
ram [V
w
48 foll o =t 88
: ollo ; ‘
9
14 | 12 18 9 ? 11
The missing number (?) in the third
ol figure above is
What is umber at X’ in the above
matrix ? : ’ (@) 7
(a) 5 \%L{s
(b) 8 %
(e 21
% 9
(& 11 (d) 28
B-BRO-M-HTB (28 -,A)



47, fFrafafad sl R R i 49.
X J99 U6 fRR 918 &1 &M &=d g¢ 0 fadly
A B yRA A aRAE | 37 NG A A

BH-91 U6, x AR y & dra T a20far g ?
y "
0 Eﬁq p.4 {}Tx-

48.

T g ?

(a) 5
(b) 8
(¢) 9
(d) 11

' B-BHO-M-HTB {29 =ah)

IR PR

Z 6 vfd T &1 == 3R T 40 ufd Aex

S5 @ A R R R ot /i | 3w g
¥, F=folRed arolt § e w0 &R ® AR

i aer%-e .
b tﬁf?ﬁ} = ng
A 8 20 2120
B 10 25 1950
C 9 2064
D

e

Y18
(c) = 21

(d) 28



A cube has six numbers marked 1, 2, 3, 4,
5 and 6 on its faces. Three views of the
cube are shown below :

1 o S 3

49 2 6

6 i 5

ol.

iy
What possible numbers can exist on the
two faces marked &) and (B), respectively
on the cube ? : _

®.

\%- 2 and 3

(b) 6 and 1
(c) 1 and 4

(d) 3 and 1

-

)25 — 34
[Z]60 — 65
R 45 - 59

52.

(@

F

70%

55. If the number of female _ Physics

professors in the age group 25 — 34-equals’

25% of all the Physics professors in that

age group, then what is the number of

_ male Physics professors in the age group

: RYYSICS " MATHEMATIES” CHEMISTRY BOTANY PSYCHOLOGY™ ECONOMICS 25—-384 7?7 - e - -
.Malg—, Female ) )
' (b) 6
Figure 1 Number of Professors in () 3
selected disciplines in a University by sex d 2
B-BRO-M-HTB ( 30 - A )



51. Uh U9 & Badl R 1,2, 3, 4,5 3Kk 6% &8
3 fufed foe e & | &9 & 69 gz IR 2ofe
M E:

1

3 3

6 1 5

Wu?m@)aﬂ?ﬁl%aa‘r-maﬁw
Swifad 3 Fa1 & woa € ?

@
(a) 23K 3
() 631

() 13R4
d) 331

F=ifaiRaa 5 (dier) ge=ren & foe e

SRzl
o 1 : vs fovafoarea & $o gfver fawm #
AT Bt forr SR T

B-BRO-M-HTB [ 31

W35 - 44
[]25 - 34
[=]60 - 65
K¥ 45 - 59

52. iR & fose ez 35 — 44 % sy g
g ? '

(a) 18

(b) 16

(c)
(d)

difdedl & 25-34 g WR H Th
AT B &1, 39 3 THE & s &
DT D B 25% &, A 25 - 34 3G T
& I & THT WEATIDT PBI HEAT T & ?
(a) 9

(b)
(c)
(d)

6
3
2

- A}



b gAS
O

56. If the Psychology professors in the

University constitute 2% of all the
professors in the University, then what

is the number of professors in the
University ?

(a)

W 500

(c)
(d) 700

Consider the f'ollowmg ﬁgures

(4)

(c)

B-BRO-M-HTB

Directions for the following 2 (two) items :

Read the following passage and answer
the two items that follow. Your answers to
these items should be based on the
passage only.
Passage

Ecological research over the last
quarter of the century has established the
deletenous “effects __of _ 'habitat.
fragmcntatlon due to mmlng hlg__ways
and “such Dther intrusions on forests. =

When a large
frag‘mented ig

“of forests ~ gets
r bits, the edges of

9. What is the purpose of maintaining the
continuit forested landscapes and
corridors 2- =

.. Preservation of biodiversity.
2. Management of mineral resources.
3. Grant of forest lands for human
activities. o il
Select the correct answer using the codes
giyen below:
%’1 only
(b) 1 and 2
(e} "2 and3.
il A2 ang s

(32 - A)




06.

(a) 400
(b) 500
(c) 600
(d) 700
57. frafeRed stepfmdl R faar Hifse :
(1) (2) (3) (4)
‘?

(6) (7) |
ﬁmﬁvﬁaﬁ il # | BH-H Ub, dhed
wu #, 394w v fE gRT <@ m 74w
W e ?

B-BRO-M-HTB

afy FefeE & weame! @ wwen Rreafiema
¥ PRRd o WS B 2% B, 9@ 59
eafiamera @ weamst & por T feaHl & ?

frfeiRaa 2 (a)) wearen & fore fAder -

58.

59.

(.83 SiA0

FrafeRaa uReee @) ufee 3R 3mr 3 aret at
g & FoR A | 3 JeiEl & e FN
5w gRw®T T & menRa g afee |

uReda

o b aRad 25 af B aRE fee M
9 wE § B oW aen WY 3 s
Tffaferdl & SRUT, U G WUEH & EHaR
gural @ fog fbar & | 519 Sl & b a8l

wvs 3k B gret 3 Reled & S &, o

& el @l S IR Wi Grarsendt & Wb
3 a7 T & 3R gwer wRom A # Wl &

weeT 1 3y | aTeslied Y-eE 3R Tferari
@1 iaer ¥ & o ¢ e a=-sie @
e Ag-yger snfadi weifad @ € | 39
FHR ta-fafderer FRewr B Fas TR ww
HERT-@USH & AHT ST & | @ Hrf-dl @l
= 4 & e e, WY & fPrgw

=g uReee o dafag aar g ?

(@) A RS G

(b) a3 B e
(c) WRPRI BT RETOT
(d) FmE™ & forees

geTEEIE el e TRl @ Wad &

@ P T WA ' P

1. Sto-fafaerar &1 wRew |

2.  Wive SameEl & Y6eT |

3. #AFaa feoeem & e @7 o @&
FEE |

A fe M e B AT B T TR G

(a) ®aa 1

(b) 132

(c) 23R 3

d 1,23Kk3



60.

61.

In a rare coin collection, there is one =63.
gold coin for every three non- gold coins.
10 more gold coins are added to the
collection and the ratio of gold coins to
non-gold coins would be 1:2. Based on
the information, the fotal number of
coins in the collection now becomes

WQO

(b) 80
(c) 60 64.
(d) 50

A gardener has 1000 plants. He
to plant them in such a wa
number of rows and

columns remains the

B-BRO-M-HTB

Out of 120 applications for a post, 70 are

male and 80 have a driver’s hcense What
is the ratio between the minimum to
maximum number of males having
driver’s license ? .

(a) 1to2
(b) 2to3
3t 7
(d) 5to7
In a as food for
1000 onth. After

joined the
pldiers be

A person can walk a certain distance and
drive back in six hours. He can also walk
both ways in 10 hours. How much time
will he take to drive both ways ?

W Two hours
(b) Two and a half hours
(c)
(d)

Five and a half hours

Four hours



60 uasgﬁw%wﬁﬁsa?ﬁ gfa @ sravl faael |63, fosdi va & fore 120 smem! # F 70 g2 & 3k
W v wof Ryasr & | &k # 10 w@of Rews Bnﬁmﬁgﬁﬁﬂﬁm%lﬁﬁﬂmﬁ
3R g Re 5 ¥ sk waof dor swavl Rt Tt Bl AU SR =g we & dr @
BT ST 1: 2 & SN ¥ | 39 g b | 0 SPE@Em P -

R, & A pu oo o w= 3@ @@ A (& 291

St ? b) 32
(a) 90 : (e :-ET 3 &I
A d) 795

(¢) 60 64. TH RET 7 108 _
(d) "50 : & i 3 A

61. U A & U 1000 e & | g =9 diei @&
sﬂmmm%‘%ﬂ%uﬁﬁq‘raﬂw =

62,

Eas_aﬁ-sﬁgﬂa‘iﬁweg&aa‘r,easmﬁ
tee aeax SR I A’ & e § aod) @),
dg BR FHAT & | 98 39 g B el "B e
TR 10 Hel ¥ 9a IR Fdhar & | A ®"e
e AP I QU B a9 PR # I e
FHY T ?

(a) ¥ 30

(b) T 40 (a) @ e

(¢) Z60 (b) @ ue

) 280 (c) < urd ©e
(d) IR =©
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Directions for the foﬂ.ow:ng 8 (eight)
items :

The following eight items (items 67 to 74)
are based on three passages in English
to test the comprehension of English
language and therefore these items do
not have Hindi version. Read each
passage and answer the items that follow.

English Paséage -1

Seven-year-old Jim came home
from the park without his new bicycle.
“An old man and a little boy borrowed it,”
he éxplained. “They are going to bring it
back at four o’clock.” His parents were
upset that he had givén his expensivé new
blcycle but -were secretly proud of his
kmdneqs and faith. Came four oclock

e et e g e

blcycie The" parents were 3

happy man and a boy,
and a box of chocolag

67.
(a) w WO
(b
c)
(d)
68. Jim returned the watch to the old man
and the little’ boy because
(a) they gave him chocciates
(b) his father was proud of him.
Vé he was satisfied with the condition
of his bicycle.
(d) they were late only by 30 minutes.
B-BRO-M-HTB

1.

English Passage - 2

It was already late when we set out
for the next town, which according to the
map was about fifteen kilometres away on
the other side hills. There we felt
that we would find a ‘bed for the mght
Dafkness fell soon _after we leff left the
vﬁlage but ]ucj{_ﬂy we met no _one as we
drm?g swiftly along thc narrow winding
road that led to thah;!ls As we climbed
higher, "it became colder and rain began to
fall, makmg :
road. 1 agd
drive s

my companion, to
“we had travelled
tres, there was
yn which was
e beginning to
arning, the

although it was ge,ttmg dark bccause
(a) they were in a hurry.

- (b). the next town was a short distance
away and was a hill-resort.

(¢) , they were in wilderness.

the next town was a short distance

~away and promised a good rest for

the night..:

The travellers were worried aﬂ;er twent}’

kilotnetres becadse ~
(a) -1t was a lonely countrysnde

" they ;robably feared nf havmg lost
their way.
the raln began to fall.

it was getting Eglder as they drove.

—r—

C)
(d)

(36 - A)



ﬁﬁ%ﬁiasranﬁ)mmbﬁéfﬁvﬁé%r:

fF=feiRaa 8 (35) go=ier (go1er 67 @ 74)
st & dF aResel w smenRa & silk arush
T & qeT & wsenr & foe & 1 s 37
go=en @1 fa=dt urs 7l faar s ke & | vdd
gRede ufer a9 39® 3 fav 7e ge=i9n & R
gifsre | ¢

English Passage - 1

Seven-year-old Jim came home
from the park without his new bicycle.
“An old man and a little boy borrowed it,”
he explained. “They are going to bring it
back at four o’clock.” His parents were
upset that he had given his expensive new
bicycle, but were secretly proud of hig
kindness and faith. Came four o’clo
bicycle. The parents were anxig

67.

68.

(a)
(b)

they gave him chocolates.
his father was proud of him.

he was satisfied with the condition
of his bicycle.

(d) they were late only by 30 minutes.

B-BRO-M-HTB

English Passage - 2

It was already late when we set out
for the next town, which according to the
map was about fifteen kilometres away on
the other side of the hills. There we felt
that we would find a bed for the night.
Darkness fell 'soon after we left the
village, but luckily we met no one as we

drove swiftly along the narrow winding

71.

(37 = iA)

road that_led to the hills, As we climbed
higher, it became gglder and rain began to
fall, making i kit at times to see the

es, there was
which was
beginning to

they were in a hurry.

the next town was a short distance
away and was a hill-resort.
they were in wilderness.

the next town was a short distance
away and promised a good rest for
the night.

The travellers were worried after twenty
kilometres because '
(a) it was a lonely countryside.

( they probably feared of having lost
their way. ;
the rain began to fall.

it was getting colder as they drove.

(c)
(d)



English Passage - 3

A stout old_lady was walking with
her basket down the middle of a street in
Petregrad to the great confusion of the
pointed out to her that the pavement was
the place for feet-Eassengers but she
replied, “I'm going to walk Where I like,
We've got liberty npw * It did not oceur 1:0
the ‘dear lady that if liberty entitled the
foot- pas‘%ngér‘t&?ﬂva‘lk'{iowq the middle of
the road it also entitled the taxi- driver to
drive on the pavement and that the end
of ‘such liberty would be universal chaos.

Ll Lt

Everythmg weuld be gettmg in_everybody
else 8 way and nobody would get

72,

73.

74. The old lady failed to realise that

(a) she was not really free.
her liberty v'vas not unlimited.
(c)

(d)

she was an old person.

roads are made for motor vehicles
only.

B-BRO-M-HTB

Directions for the following 6 (six) items :

Given below are six items.  Each item
describes a situation and is followed by
four possible responses. Indicate the
response you find most appropriate.
Choose only one response for each item.
The responses will be evaluated based on
the level of appropr.-:ateness for the given
situation.

Please attempt all the items. There is
no penalty for wrong answers for
these six items. :

75.
: e allotment
een given

f‘{\
-:' B - house. The
5 %t  examined the

wed according tfi the rules. You do
. want to annoy your personal
secretary. In such mrcumstances

what
would you do ?
( Call him over to your room and

personally explain why the allotment
cannot be done.

AI]ot the house to him to win his
loyalty. i

(b)
(c) Agree with the office note to show

that you are not biased and that you
do not indulge in favouritism.

(d) Keep the file with you and not pass

any orders.

(38 - A)



English Passage - 3

A stout old lady was walking with
her basket down the middle of a street in
Petrograd to the great confusion of the
traffic and no small peril to herself. It was
pointed out to her that the pavement was
the place for foot-passengers, but she
replied, “I'm going to walk where I like.
We've got liberty now.” It did not occur to
the dear lady that if liberty entitled the
foot-passenger to walk down the middle of
the road it also entitled the taxi-driver to
drive on the pavement, and that the end
of such liberty would be universal chaos.
Everything would be getting in everybody
else’'s way and nobody would get
anywhere. Individual liberty would have

become social anarchy.

72. It was pointed out to the

should walk on the p

73.

she was confused.

»

The old lady failed to realise that
(a)
(b)
(c)
(d)

74.
she was not really free.
her liberty was not unlimited.
she was an old person.

roads are made for motor vehicles

only.

B-BRO-M-HTB

f=ifeifdea 6 (g8) semen & foe fAder -

75.

1t g% gerer faw e & | gels gerer # v
IR few e & | for Fov @t v walfes 39gE
qFd 8§, 39 39 U7 IR & w9 H sifed
P | Fid FeI9T & fore daer o & FoR
g | 3ot @1 geaie, & 7 Refa & fow
JugeRdl & WR & AER TR foar sme |

Pl Gl mEEen & IO} AMow | 7 BE
g @ fore 7o Fori & fow i e T &

N 3 FR A ganh 3R @i s R
W B 6 smEeT @ T8 oo s
bl |

IFH TBERI N & o W HeH
- 3efed & e |- .

g fg & & o 16 anmw Faer € 3k

3 f& & T veuE 98 B, dEe
fewoh ¥ Heufa s & |

BISA 39 U U8 61 4t 3R 3 ey
&I & |

(b)

(c)

(d)

(39 - A)




76.

While travelling in a Delhi-registered |77. A person lives in a far off village which

commercial taxi from Delhi to an adjacent is almost two hﬁurs by bus. The

city (another State} your taxi driver villngens nmghbour is a very powerful

; _ landlord who is trymg to occupy the
mforms you that as he has no permit for
_ SRt

poor v1llagers land by force You are
running the taxi in that city, he will stop

o e 1o the DMM%and busy in a
at its Transtt Office and pay the meeting called by a local Minister. The
‘[JI‘EbCI‘led fee of E4 forty for a day While villager has come all the way, by bus

paymg the fee at the counter you find that and on foot, gu and give an

the transport clerk i is taking an extra fifty icatiog 2 ‘d" tion from the
i i """—_'l_) i «-
rupees for which no, receipt is being

given. You are in a hurry for youg :
. —_— g oL ing and
meeting. In such circumstances

would you do ?

=

(a)

to be dealt by a junior officer and
that he should give the application
to him. * :

Call one of your senior subordinate
nfﬁcers ‘and ask. him to solve the
p villager’s problem.

the concerned authorities. 2

s T (d) Quickly take the application from
. hlm, “ask  him a few relevant

(d) Treat it as a normal affair and
questmns regardmg his problem and

simply forget about it. then proceed to the meeting.

B-BRO-M-HTB {40 - A)
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76. ﬁﬁ%ﬁdﬁgﬁmﬁwﬁﬁéﬁﬁiqﬁw

$}.WWE§TWW§U,WW
. e e garl € 6 dfe 3we U 39
Wﬁﬂaﬁﬂﬁi‘raﬁrﬁﬁzﬂﬁf%maﬁ

395 TRae PRIfe IR Bem 3R AR vue |

yfafes &1 FeiRa geb 3@ B | B W
wmmﬁwmﬁﬁ%%;qﬁ?ﬁ
Rt T TUr SRR e <eT & P
forr o e & & T @ & | 3T A
do® & foe ofeal H & | g9 aRfRical 7,

(d) 38 UH WYRU AWl GHH R Yo
S |

e

77. U AP R S & UH T H | § S

T& & foe o9 | e @ u¢ o € | g9
IIOT BT TSR 98 arbaay YFEE § S 5
RIS IH0T & S Seew &R arEan
2 | 3mu forem aforge & iR wiFa w5 g
gE T dom ¥ wa & | T @ @ ok

7 e sk 3w

SR BRI ST ST & 37 98 Wi=1-ud
T

HIH TH RS HIAEd BRI B e}
frder & 5 a@ ariior @ T & '
e | '

(d) I9& TRA-TT dEi ¥ X 399 BB
WNRe WEH 390 WA B aR W g
3k o3 & fow T e |



78. There is a shortage of sugar in your|
District where you are the District
Magistrate.  The Government has

ordered that only a maximum amount

T e e

Weddmg celebratlons A son_ of _your

e

i e

close frlend is gettmg married and your
friend requests you tt} release at least
50 kg sugar___fm_f_ h_1sm son’s wedding. He
expresses annoyance when );OU. tell him

about the Government’s restrictions on

this matter. He feels that sinc_t.e you are
the District Magistrate you C“E,’tl"l
any amount. You do not
ymir friends':hip Wik

circumstance

Advise him to directly apply to the

(d)

= allotting authority and inform him
that jfou do not interfere in this
matter.
B-BRO-M-HTB

79.

%

You are in-charge of implementing the
Family Planning programme in an area
where there is a strong opposition to the
present policy. You want to convince the
residents of the need for keeping small
families. What would be the best way of
communicating this message ?

explaining to the

Wy logically
: residents the need for- family

planning fo improve the health and
lwmg-standar&s N

Wer matter. Your colleague informs
son will suffer from
depression if he fails in this examination.
In such circumstances, what would you
do ?

(a) . In view of the help he had given you,
~ extend your he]p to him.

Regret that you cannot be of any
help to him.

(c) Explam to your colleague that this
would be violating the trust of the
University authorities and you are
not in a position to yhelp him.

— A
(d) Report the conduct of your colleague

to the higher authorities.

[ 2. R
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78. B By % s B whre & a8 O B

feea & | TR 3 e Froren & 6 darfes
Iga W siftead 30 feer A SR @ ST
THA & | 3UP UD B! ARG F d¢ B [G9TE
g aren & 3R gmue i o &8 & faaw 6
for AA-F9 50 foeh dF SR A @
R A R | T AT A W
frdaor & aR ¥ gad € @ 98 RS & F@
2 | 3ue v € & dfes amw foren wfoge
& 3y fpaet off 7Em § 9 SR AR S 2 |
3 I o fmar & fams 6 g

uRiifaat 3, 3m0 39 Rl

‘gr

ot
,‘\:t\.\"e
\b I B B
= ¥ fre FaR B |

(c)

e JH

T-ﬂ?ﬂ_

(d) I, @ B e fUERT B W
JRFAT-U &N @Y Helg it 3R e A
o 3T U WAl # EaY |6l Bd |

ot B u

(43 - A)

79.

(b)

# h;!i" g
S“%\. a2 b wen A el @9 W 39D

39 v W &7 # uRar frisH SrRisA o

B B YHR &, TRl gauE Aifd & B8l kg

& | & | 3y Frafaal & e iRkar @@= &

AITHAT HAGHT Ti8d & | 39 9o B TufNd

& BT Ay dPI FaT BN ?

(a) Tl o e 3k sieT 'R gaRA
9 " THAE |

ﬁ#%ﬁﬁﬁaﬁ%@asﬁamaﬁ
rearfed &= |

T FaeE & IR & oo | g aRffaat 4,
3T T B ?

(a) 3G o 3P R & TS HEFar ®l QG
gC 31U IS Herdar B |

We T BT 16 39 D! Dls FEraal
8 B gad |

T TEHH! DI 3T FHAL fb U HA
¥ Reafaea & afteRal & fagas 9
2nm 3R 39 3e gEEdr da o Rfd
¥ TS E |
TBIRAT @ 3 el & AR ol
fRrprae & |

(b)

(c)

)
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A&, : B-BRO-M-HTB oo gRest s

g : a g

T&® 79 & o IR doicue 3R £ | InfdaR gR ds 39 e & foe, o foe €3 &, fee o
T e IR & fere w2 Fraa fve e siet @1 ve-foer < & w9 § @er sme |
© (i) afe B INNEaR vE F 3Mfed TR a1 €, a7 39 e IR 71 e, gafy Be e R A @ ve R
el e &, R o 3% 9 & fere Sudehrga &), ¥ ake @ <8 e e, afe 3w fee ds @
(i) 9fe IFTEAR GRT 5 W9 & T fobdn S &, 31 InficaR g’y 3w) A& faan man &, o 39w
& fere @ € =761 fean sem |-

59 d@d U@ gF GRiewr gRaer @ies @ T e v a9 d@ T Gl

Note : English version of the instructions is prin{ed on the front cover of this Booklet.

Note : Some of the answers are subjected to change




